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General Instructions :

G 59T -

(i) Please make sure that the printed pages in this
question paper are 7 in number and it contains
17 questions.
Y AT BT A B 5T JFGH F FRT g 7 a9r
797 17 &1
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(ii) The Code No. and Set on the right side of the question
paper should be written by the candidate on the front

page of the answer-book.

ToFgH 7 alied & # Y B9 T #i8 T 7 4
#l G FTAT-YiaHl & §eg-g%3 91 [d |

(iii) Before beginning to answer a question, its Serial
Number must be written.
PUF F9T FH T [T @ FT G YEed, G997
FHE FTY [ |

(iv) Don't leave blank page/pages in your answer-book.

FAT-YiReTl % i 7 @l g,/9 7 818/

(v) Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

FA-GITR & FAIRFT # = e T& [
SEPTEAFAIT & [Td T for@r FaT 7 #C

(vi) Candidates must write their Roll Number on the
question paper.

ghereff orgr T To FIT-GF T 3FeT @ |
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(vii) Before answering the questions, ensure that you have
been supplied the correct and complete question paper,

no claim in this regard, will be entertained after

examination.

Y Jo7] 1 T @7 @ g7 GrRET BT o [F Fer-gH
g7 7 @& &, T % ST 39 @ 7 #g @l
&HIT Tel 59T T3 |

(viii) All questions are compulsory.

gt g7 afaarg &

(ix) Answer the questions of Section - A in about
40 words each. Each question carries 2 marks.
€ - F % FO9F FT FH FAT TTHT 40 I T
T | g% 797 & 2 6% &1

(x) Answer the questions of Section - B in about
100 words each. Each question carries 5 marks.
g€ - § % g% 497 # FaT 79T 100 = F
AT | g% 997 & 5 5% &1

(xi) Answer the questions of Section - C in about
150 words each. Each question carries 8 marks.
&€ - § % g9 497 B FAC TTHT 150 I= 7

577 | g% F97 % 8 3F &/
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SECTION - A

€rls - H

1. What do you mean by 'Cognition' ? 2
W A R A © 7

2. Clarify the concept of 'Aptitude'. 2
‘RN H1 T T Fife |

3. Point out the main language development during
infancy stage. 2

Sgraraer § A # o & g o gaRy |

4. Explain in brief any four factors affecting language
development. 2

A I &l goiad w7 ard el 77 B H G
AT FHITTT |

5. Explain educational implications of Social Learning
Theory. 2

qmEeTs AfrE & fasr & A ST THEET |

6. Clarify the meaning of 'Interaction'. 2

‘dthar & A P TS HINT |

7. What do you mean by Listening Skill ? 2
ST Y F A § 7
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SECTION - B
grs - §

. What do you mean by Tools and Symbols in

development ? 5

feeprer & I3 SR Fereedl & o Al @ °

. What is 'Sustained Attention' ? Describe factors

affecting sustained attention. 2+3=5

‘Hgd A @ § 7 Gy oEaN @ geiead B AW
HIRT HT qU P |

What do you mean by 'Thinking' ? What are
Convergent and Divergent Thinking ? 2+3=5

R @ g o B ? AuErd o) ARrErd Riaw = 7 ?

How creativity can be fostered among children ? 5

e § gemeiiadr w4 9grs o @l © 7

What are the types of 'memory"' ? 5
ey e T A § ?

Explain the process of memory. 5

wgfc &l ik @l qHERy |
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14. What are the types of Play ? Describe them. 5
T b T & B & ? IR g diod |

15. What do you mean by Multi-Linguistics ? Describe
the problems due to multi-linguistics. 2+3=5

Tg-IMRT & FT ARWE & 7 ag-I § I aHenad H
oI T |

SECTION-C

€Tls - 9§

16. What do you mean by 'concept' ? Describe the factors

affecting concept formation. 2+6=8
‘T W A N THEd § 7 g O B g
HA AT HITH BN U T |

OR

AYqT

Describe the characteristics of Learning Disabled
Children. 8

TR oTEme gt @l [AATeT @ avi HifoTe |
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17. Discuss Guilford's Model of Intellect. 8
Rierie &l gfa dea dise R == & |

OR

AYdT

What is Long-Term Memory ? Describe characteristics

& various types of Long-Term Memory. 2+ 3 +3 =38

-t Wi w2 7 3aad fadarett o ffr= vl @
IO IR |
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